Figures

Zonal- and time-mean distribution of zonal wind (U), mass stream function
(MSF), and temperature (Temp) are shown.
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Figure 1: U at Ls=0°-30° by dcpam Figure 4: U at Li=90°-120° by dcpam
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Figure 2: U at Lgs=30°-60° by dc- Figure 5: U at Ls=120°-150° by dc-
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Figure 3: U at Ly=60°-90° by dc- Figure 6: U at Lg=150°-180° by dc-
pam pam
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Figure 7: U at Lg=180°-210° by dc- Figure 10: U at Ly=270°-300° by dc-

pam pam
Ls=210-240 ¢qstward wind £s=300-330" eqstward wind
(Pa) (Pa)
£ . -2 T T T T T
e f e1f \\ j
DD’ £ 160
wf ¥ e F. 120
B o 2 &
K 8 s o [, o
el ek Q 3
& o
= 10
E2 [ E2F g ~80
e [ LS -1z
. . 3 - S , —160
—90 —60 —90 —60 —30 o
(degree_narth) (degree_north)
Iatitude

lotitude

CONTOUR INTERVAL = 2.000E-+01 CONTOUR INTERVAL = 2.000E+01

Figure 8: U at Ls=210°-240° by dc- Figure 11: U at Ls=300°-330° by dc-
pam pam
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Figure 9: U at Lg=240°-270° by dc- Figure 12: U at L;=330°-360° by dc-
pam pam



pressure

Figure 13: ANGMOM at Lg=0°-30°
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Figure 14: ANGMOM at L;=30°-60°
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Figure 15: ANGMOM at Lg=60°-90°

Ls=60-90 angular momentum

E-2 T T T T T

60 90
(degree_north)

latitude

CONTOUR INTERVAL = 1.000E+00

by dcpam

Ls:907W200ngu‘or momentum

pressure

0
(degree_north)

latitude

CONTOUR INTERVAL = 1.000E+00
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Figure 17: ANGMOM at Lg=120°-
150° by dcpam
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Figure 19: ANGMOM at Lg=180°-
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Figure 20: ANGMOM at Lg=210°-

L3:210724gmgu\0r momentum

E3

(degree_north)
latitude

CONTOUR INTERVAL = 1.000E+00

240° by dcpam

pressure

Figure 21:

Ls=240-27Gngular momentum

E-2 T T T T T

60 90
(degree_north)

latitude

CONTOUR INTERVAL = 1.000E+00

270° by dcpam

ANGMOM at L,=240°-

pressure

Figure 22: ANGMOM at Lg=270°-
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Figure 25: MSF at Li=0°-30° by dc- Figure 28: MSF at Ly=90°-120° by
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Figure 26: MSF at Ly=30°-60° by dc- Figure 29: MSF at L;=120°-150° by

pam dcpam
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Figure 27: MSF at Ly=60°-90° by dc- Figure 30: MSF at Ls=150°-180° by
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Figure 37: MSF at Li=0°-30° by dc-

pam

pressure

Figure 38: MSF at Ly=30°-60° by dc-
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Figure 40: MSF at Lg=90°-120° by
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Figure 42: MSF at Ls=150°-180° by
depam
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Figure 43: MSF at Ly=180°-210° by
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Figure 45: MSF at Ls=240°-270° by
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Figure 50: MSF at 1 Pa at Ls=30°-

60° by dcpam
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Figure 51: MSF at 1 Pa at Ly=60°-

90° by dcpam
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Figure 52: MSF at 1 Pa
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Figure 53: MSF at 1 Pa at Ly=120°-

150° by dcpam
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Figure 58: MSF
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Figure 80: ANGMOM at Lg=300°-

330° by dcpam
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Figure 83: MSF at Ly=300°-330° by
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Figure 85: MSF at L;=0°-30° by dc-
pam
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Figure 86: MSF at Ly=30°-60° by dc-
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Figure 87: MSF at Ly=60°-90° by dc-
pam
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Figure 88: MSF at Ly=90°-120° by
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Figure 89: MSF at Ly=120°-150° by
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Figure 90: MSF at Ls=150°-180° by
depam
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Figure 91: MSF at Ly=180°-210° by Figure 94: MSF at Ly=270°-300° by

dcpam dcpam
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Figure 92: MSF at Lg=210°-240° by Figure 95: MSF at Ls=300°-330° by
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Figure 93: MSF at Ls=240°-270° by Figure 96: MSF at Ls=330°-360° by
dcpam dcpam
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Figure 97: MSF at 1 Pa at L;=0°-30°
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Figure 100: MSF at 1 Pa
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Figure 101: MSF at 1 Pa at Ly=120°-

150° by dcpam
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Figure 102: MSF at 1 Pa at Ly=150°—

180° by dcpam
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Figure 103: MSF at 1 Pa at Ly=180°-

210° by dcpam
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Figure 106: MSF at 1 Pa at Ly=270°—

300° by dcpam
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Figure 104: MSF at 1 Pa at Lg=210°-
240° by dcpam

Figure 107: MSF at 1 Pa at Ly=300°—
330° by dcpam
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Figure 105: MSF at 1 Pa at Ly=240°-
270° by dcpam

Figure 108: MSF at 1 Pa at Ly=330°—
360° by dcpam
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Figure 109: Temp at Lg=0°-30° by
dcpam
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Figure 110: Temp at Lg=30°-60°
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Figure 111: Temp at Ly=60°-90° by
dcpam
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Figure 112: Temp at Ly=90°-120° by
depam

Ls=120-150  temperature

Level

e
{'w e 140
< e
| '
—30 o 30 60 90
(degree_north)
Iatitude

CONTOUR INTERVAL = 1.000E+01

Figure 113: Temp at Ly=120°-150° by
dcpam
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Figure 114: Temp at Ly=150°-180° by
depam
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Figure 115: Temp at Ly=180°-210° by Figure 118: Temp at Ly=270°-300° by
dcpam dcpam
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Figure 116: Temp at Ls=210°-240° by Figure 119: Temp at Ly=300°-330° by
dcpam
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Figure 117: Temp at Ly=240°-270° by Figure 120: Temp at Ls=330°-360° by
dcpam dcpam
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